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I 71 mwn: found money in different contexts
a  If: he found money in a store — he may keep it
i But:if he found it between the storekeeper and his cashbox — belongs to storekeeper
b If he found it in front of a money-changer — he may keep it
i &7r even if found on the nYw itself
1 Source: cannot be from mwn, as conflicted implication of ®9*0/Rw’ aren’t informative
2 Rather: notice that mwn mentioned ®v3% 15w 12 and not IN>wn Yy or “at the moneychanger’s” (as in mana)
ii ~ But: if he found it between the moneychanger and the table — belongs to moneychanger
¢ If: someone buys fruit from another or receives fruit as a gift and money was inside — he may keep it
i However: if the coins were tied (jn’0) he must take and declare
ii  Note: Ran taught — only true if he bought from salesman; if bought from 1”npa, must return
1 Challenge: does the 2”nya process and clean fruit (it was cleaned and picked by workers)
2 Answer: if his own slaves cleaned it out, return it to him (else, keep it)
I ’n mwn: General ruling hermeneutically derived from v. 1/v. 3
a  Rule: anything that was part of a stated rubric and was, nonetheless, explicated — has implications for entire rubric
b Application: n9nw subsumed under PnR nTar Y3; explicated > nTar nawn only applies if item has D1v and claimants
¢ Further (¥27);justification for nYnwy 1N ,nv ,Mw:
i 7150w alone would have taught that if there are v in the item itself, it is liable for nTar nawn
1 But: a donkey, which is identified by its saddle (extrinsic to it) — no nixn
ii  Therefore: mnn teaches that even oo that are extrinsic are valid.
iii 7 teaches that even the tail-hair must be returned
iv /¥ no explanation (as we have no explanation for 1/mn’s listing in 112 'p1 according to N’ ')
1 Justification: cannot be Ympi> nw — that is 1”p from 1231 NAY MVY; cannot be oY%, since they are 1pan
(a) suggestion: perhaps nw teaches 0D 2> RNPNIRT DINYD
(b) Rejection: from wording of nwn that uses 01’0 as a basis for extention to others from nYnw
I Assorted ma%n of nTax
a  Rma: nTar worth less than 9"v is excluded as per:
i PN — TIND VN, DTN 'Y — ANYD)
1 Split the difference:
(a) 7anx pYMT MYNWn (no practical difference)
(i) 7 uses nnr¥m > even if it “falls into your lap”; nonetheless, if 121 Y, no nawn nnxn
1. »7: infers this also from nnxxm
(if) 27 uses TIRN WK as per NV "1 — excludes something lost to everyone (e.g. taken by river)
1. p’m. from ynn (which T "1 sees as insignificant)
(b) &a7if the coin was 9" at time of loss, lost value and regained it:
(i) " inclusion determined as per value at time of loss (Takn TWR)
(if) 2" inclusion determined by constant value from time of loss until recovery (nnxxny)
b  Discussion — are RN”7IRT DINO or 13277?
i Split the difference: whether we return a va based on oo (if n"nn — return; if ©*m, only made for xnnn)
1 Attempted proof: our mwn — 0o inferred from nYnw
(a) Rejection: main point is claimants, not 0’n’o (mentioned as an afterthought)
2 Attempted proof: from Xn»11 — a donkey is returned via mno on saddle
(a) Rejection: means witnesses as to ownership of saddle
3 Attempted proof: exegesis of v. 2 — check in order to return it (meaning n11n°0?)
(a) Rejection: means — 07y
4 Attempted proof: x10 mn1 mwn that in spite of 0711Y, may not testify to death of husband without seeing face
(a) Rejection: body - tall or short (unspecific); 0’93 -may be borrowed (or just white or red — unspecific)
(i) Block: if we are concerned about n9&8w, how can we return donkey based on saddle?
1. Answer: people don’t borrow saddles as they hurt the donkeys (if not properly fitted)
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(ii) challenge: a V3 may be returned — even after a long while — if it was tied to the m%w’s money pouch,
wallet, ring or found among his own vessels
1. answer: these are never borrowed, each for its own reason (witchcraft, identity theft etc.)
ii  suggestion: perhaps this is subject ot Tannaitic dispute; if a body is found with a mole:
1 w3 may not testify
2 K271 73 7rvoN: may testify to his death
(a) Suggestion: their dispute is whether Xn»1IRT D0 (if RNIRT, we'll permit v& nwR based on D?11M'D)
(i) Rejection (837): all agree that Rn»1IRT DID
1. Dispute: whether a mole is found among men born at the same time, OR
a.  All agree: mole isn’t common, but
2. Dispute: whether a mole typically changes posthumously OR
a.  All agree: moles typically do not change and 11177 01100, but
3. Dispute: is a mole considered pnam jn°o (which, even if 131277 01n’, we would use)
i R37: ROPMIRT 02’0, else how could we return an n7aR based on naNo?
1 Answer: social contract:
(a) Version 1: people are happy to return it as they’ll get their own mTar when they lose them
(i) Rejection: we are not allowed to do a favor with another’s property (the putative “real” owner)
(b) Version 2: all who lose items are happy to have this agreement, as no one else can provide proof
(i) Challenge: »2v7’s ruling (n:x n”a) that if the 3 nvW all have the same lender, it is returned
1. Explanation: the nn is certainly not happy that his creditor gets the note back
2. Answer: that ruling follows X120, as explained there — all 3 are together because they belonged to
the one lender
(if) Challenge: ruling (ibid) that a bundle or roll of m7vW are returned (without above-noted x72v)
2 Answer: Do are, indeed, Rn»1IRT as per exegesis of v. 2
¢ N27 competing claims:
i Assuming: RN»7IRT DYNYO
1  If: two claimants, each offering mn’v, stays in stasis
2 If:1 claimant who provides 071’0 and another who has witnesses — witnesses trump 0’n’0
3 If: 2 claimants, each providing n’m’o and one who also has 1 7p; the witness ignored and it stays in stasis
4 If: 1 has witnesses that he wove it and other has witnesses that it fell from him — given to latter
(a) Reason: former may have made it — and sold it (akin to ruling about coin found in p1v)
5 If:1 can identify width and other can identify length — given to one who can identify length
(a) Reason: width could be measured when he saw (real) owner wearing it
6  If: 1 can identify width and length and other can identify total fabric — given to length/width
7 If: 1 can identify width/length and other can identify weight — given to one who can identify weight
8  If: husband identifies 01n>0 of V3 and so can she — given to her
(a) Meaning: cannot mean width/length (she saw it when he held it) rather, a hole near a particular letter
9  If: husband identifies 0m0 of string tied to vy and so can she — given to her
(a) Meaning: cannot mean color, as she may have seen it; rather — the length
10 If: husband claims the v3 was found in a pouch as does she — given to him
(a) Reason: she knows that he keeps everything in a pouch
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